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Assume that New Aquatics Inc’s EBIT has a 10% chance of equaling $3,000,000, a 50% chance of
equaling $7,000,000, and a 40% chance of equaling $9,000,000. Assume also that New Aquatic’s tax rate
equals 35% and that the tax rate on equity income equals 25% and that the tax rate on interest income

equals 40%.

Quiz B for 1:15 Class: 7/25/12 Name

a. Considering only tax issues, determine the optimal level of interest expense for New Aquatics? (Note:

Calculations required).
b. Assume New Aquatics reduced its debt below the level of debt you identified as optimal in part

Assume also that New Aquatic’s stock price fell when the firm reduced its debt. Ignoring tax issues,
how would you explain this reaction?
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b. 1) The stock price might have fallen because sgockholder-manager conflict might be more of a problerrﬁ

with less debt
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=> the firm will have( more cash left after debt servic so(management might be tempted to waste
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=> stockholders will not benefit as much from creditors helping to monttor management
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=> with less threat of bankruptcy}tnanagers mayﬁot be as motivated to work haré
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2) Reducing debt might signal manager%ltuacks cor\lﬁ/den\:e in the ﬁr‘ﬁ.
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v ( => management might be reluctant to issue debt if they are not conﬁdentli/{j{;e—ﬁ;&ur

=> failure to make payments will result in bankruptcy and the possible (likely) fifing of
management
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